Economics 101

Spring 2005

Homework #2.

Answer Key

1. 
a) The equilibrium price is $10 and equilibrium quantity is 30.

b) The consumer surplus is $450 and the producer surplus is $150.

c) After the tax program, the supply function becomes Qs = 3(P-4). Therefore, the new equilibrium price is $13. The new equilibrium quantity is 27. The producer price is $9.

d) Tax paid by a consumer is $81.

e) Tax paid by a producer is $27.

f) The tax revenue is $108.

g) The deadweight loss = ½ (30-27) (13-9) = $6.

(See picture 1)
2. 
a) The equilibrium price is $30 and the equilibrium quantity is $20. When the government sets the price floor level at $40, the quantity demanded is 10 and the quantity supplied is 30. Therefore, there is an excess supply equal to 20.

b) The direct cost is $800 and the total cost is $820.
(see picture 2)

c) The target quantity is 30. Therefore, the consumer price is $20. To implement this program, the government has to pay a subsidy to producers of  30* ( 40-20) = $600.

(See picture 3)
3. 
a) Since both supply curves are identical the y-intercept of the market supply is the same as the y-intercept of the individual supply curve. However, the slope changes to 1. Therefore, the market supply function is P=30+Q.

b) The equilibrium price is $90 and the equilibrium market quantity is 60 with each firm providing 30 units to the market.
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